ITamaTka mo teme «PenieHre TPUrOHOMETPUYECKUX VPABHEHUI).

1. cos x=a |a| <1 x=zarccosa+2m,ne’l arccosa € [O; 72']
arccos(—a) = & —arccosa
YacTHble ciyyan:

Cos x=0 x:%+7m,nez

Cos x=1 x=2mneZl

Cos x=-1 x=n+2mnel

2. sinx =a |a| <l x=(-1"arcsina+mneZ arcsina e[—%;%}

arcsin(—a) = —arcsina
YacTHble ciydau:

Sin x=0 x=m,neZ

Sin x=1 x=%+27m,neZ

Sin x=-1 x:—£+27m,neZ

3. tg x=a acR
x=arctga+m,nel arciga e (— %,%} arctg(-a)=-arctg a

4. ctg x=a aeRr
x=arcctga + m,neZ arcctgac(0;7)  arcctg(-a)=rmarcctg a
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